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1. BEBBOER
(1) BEINE
HEREERAS 981,410 981,421 A 11
BHEEEFR 5,520 5,533 A 13
BH-H#5E 975,890 975,888 2
ZH2E 8,558,700 8,496,600 62,100
FREZIRE 8,232,400 8,186,300 46,100
BHREZIMRE 326,300 310,300 16,000
BRI 95,000 95,000 0
[GERITEEUNEE 95,000 95,000 0
SHEBEE 6,586,700 6,586,700 0
£REHME 6,112,700 6,112,700 0
ELEGHNE 474,000 474,000 0
ZWMEEE 3,218,490 3,223,490 A 5,000
ZHREEE 2,610,490 2,640,490 A 30,000
HMefEE 608,000 583,000 25,000
ZIFEHE 331,410 331,410 0
ZHEHE 310,000 310,000 0
THMHEE 21,410 21,410 0
HEAAE 816,820 831,950 A 15,130
MU 816,820 831,950 A 15,130
[#2EUNEEET] 20,588,530 20,546,571 41,959
) BREEA
BEE 17,191,424 16,931,856 259,568
HEBMRUBEFS 4,440,576 4,446,684 A 6,108
REBIGTEI B EBEA 501,760 501,760 0
BHELEE 660,912 660,131 781
WRERXRE 1,800,146 1,501,536 298,610
REEWRE 589,122 576,594 12,528
HER-FEERE 708,903 779,499 A 70,596
RIS A& 518,119 525,373 A 7,254
258 107,040 106,500 540
R 22,658 22,658 0
HgiE 103,200 110,401 A 7,201
E=% ] 2,278,598 2,279,350 A 752
FitE& 269,470 269,470 0
b 2N=Fi=k o 1,659,498 1,659,498 0
HEEEEEXE 782,000 781,668 332
EBEEE 1,231,651 1,205,666 25,985
BmEAE 746,612 735,785 10,827
ANFENE 191,067 191,067 0
HE 580,092 578,216 1,876
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FHE 3,809,901 3,635,657 174,244
E-% 356,176 355,635 541
FEREE 5,431 27,017 A 21,586
REBRMRUHBEFH 1,223,424 1,225,106 A 1,682
REBHRTEI HEBA 138,240 138,240 0
BEHELEE 182,088 181,872 216
WREXEE 135,184 135,082 102
BIEERE 216,905 214,133 2,772
HER-FEERE 152,612 162,456 A 9,844
FNml S A& 88,992 91,297 A 2,305
25E 11,500 14,500 A 3,000
REEH 2,373 2,372 1
FitE& 253,180 43,200 209,980
XiEEE 251,180 253,180 A 2,000
EHBEREE 339,332 332,173 7,159
BAmERE 90,397 90,120 277
VA i /N 23,134 23,133 1
=RE 35,000 35,000 0
BHNEFE 30,000 30,000 0
HE 274,753 281,141 A 6,388
(FEERG] 21,001,325 20,567,513 433,812
[ZEARREEREE] A 412,795 A 20,942 A 391,853
2. FEIMERDER
(1) ¥ENIREE
(#BE s INEEET] 0 0 0
(2) BENER
(BENERE] 0 0 0
(L ERRRE 41 1EiRE] 0 0 0
(%55 | BT 2 HA — A% IF Bk B P 12 35 %E ) A 412,795 A 20,942 A 391,853
EATERBRUEERR A 80,000 A 80,000 0
[ 24 5 — #% IF bk BA e 1 A ) A 492,795 A 100,942 A 391,853
(—REREEHERS] 46,225,773 46,225,773 0
[— AR IERBIEERIRIE S ) 45,732,978 46,124,831 A 391,853
I 157 EKBERBOE
[ 2 HA45 7E 1E Bk B EE 1E0RIEE ) 0 0 0
(B ERE EHERS] 0 0 0
(fEEEREIEHRIES] 0 0 0
I FHREIEHARES 45,732,978 46,124,831 A 391,853
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